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O 3323 % MM SHAH & = 15,310
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O gxz sHAHA = 1,800
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203
oYl 4,980 4,800 180
4,980 4,800 18004 R A 2P YR AY|
O QXA (HRA43Y)
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6,800 2,000 4,800| 10 B AtAIHI 2 A2
O 08 QUHRY NSEA AH2a(RsSH)
10,0001 X 2002 X 18] = 2,000
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SINE = _ _
i = o & e w B A af = p] =
O HIlZ SUEHZ 2Y28 AH=Y
20,0002 X 10% X 22 X2 = 4,800
6,560 4,110 2,450 |12 JIENR A2
O PIRE P43
o Y 5,0008 X 221 X 128 = 120
o el 10,0008 X 221 X 122 = 240
O BHES23 018 NHT BHS(UAHY SHAH)
o A 5,0008 X 19 X 2482 = 1,240
o nEH| 20,0008 X 1% X 2482 = 4,960
303
Za2 1,000 1,000 0
1,000 1,000 0/00 Z&3
O DY o ZOIS= RBTLA &
50,0002 X 20% = 1,000
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AL 0l &1 30,950 69,450 38,500
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R ALY 30,950 69,450 38,500
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Xt &HE St 30,950 69,450 38,500
30,950 69,450 £38,500(01 K&t Y 2EHSY)
O QIAZY =olstol 2| (SHS, EHL)
930,0002 X 15744 X 1CH = 3,950
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&+ (2000) AHBI K2 B B (2400) 7S QX O AVSI R H] B (2460) 81 S X = B (2461) X = 84 = HIHIEE: (110) 21 24 Bl (IR (e H e
&8 @ T _ _
o = o & % Lo ow B A A = 5] x
2000
NS 078,142 354.738 A76.506 | [ = 3,917]
2400
9T S AFS] 2t 278, 142 354,738 ~76,506 |7 3,917]
2460
0I2I%| = 078,142 354.738 AT76.506| 1™ 3,9171
2461
NEETES 278142 354,738 A76.506 | [ = 3,917]
100
2 ALOf AF 233,991 954,532 20,541
110
0121 14,368 13,496 872
101
o121y 14,368 13,496 872
14.368 13,496 872/ 10 Y AIAFSI QI
O 528 U ASHEZHAIY 0=
o o= 07 84021 X 128 X 52 X 43 = 5,986
o =xlag 07 84021 X 128 X 43% = 1,198
O BSMASAOMEISLEIHAIY BT AL
0=
o oz 27 8402 X 13 X 52 X 43% = 5.986
o Zxlay 07 84021 X 124 X 43% = 1,198
120
2 AR 2 Y| 219,623 241,036 21,413
201
s 2 oy 173,227 205,265 32,038
173,227 205,265 A32,038|01 Lt oy
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NIAIEE: (120) 8 &
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ﬂ|‘ N ﬁ AF OH = A 2t AF =
O Usagy 103,609
O B2 L MM =N A 27 .950
O 2gac zu)y 5.000
O 2| ZHH A 23.000
O AEEHISX 13.668
202
o1l 46.396 35,771 10.625
46.396 35.771 10,625 01 2404 H|
O 2AE2d S 46,396
200
AF2L Ol &F 44,151 100,208 A56,055 | [ = 3,917]
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EXAY 9,793 79.338 ~69.545 | [ = 3,917]
201
QB2 oy 9,793 23.138 13,345
9,793 23.138 A13,345|01 LBt o]
O XN=ZH RUIALY X AbH] 9,793.0002 X 14! 9,793
= 3,917)
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ZH:(2000) Ab2] OH 24 H 2h:(2400) = A X A AFSIOH 2| & (2460) B & XX NI8H: (2461) XI X B AIAIES: (220) REHIAHY [BIEXHD] (e &
8 43 & . _
2t = ml&ﬁml&%gA%‘ &t = ) e
5,000 5,000 000 =8l
O 2% 2 A=SHS RO AMEY
o s BHHE 72 5,000& X 1,00004 = 5,000
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ANEBIZ=ZU8I 16,358 15,868 490
16,358 15,697 66101 Al&HI
O E2EE M EX(A7A, SXNES)
o = BEXAHER 428,390& X 150K = 6,426
o A2 - =352 221,377& X 3004 = 6,642
o AR - B2 (XF4) 328,981& X 1004 = 3,290
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AH&EE S H| 13,000 0 13,000
13,000 0 13,000|01 Xt&t & =SS FH SHI

O HESAIXI S&8cH 228 ZE2H 2
13,000,000& X 104 = 13,000




